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QUESTION 1

A new LUN is added to a mission critical host from the storage array on which the host is currently already accessing 2
LUNS; which of the following is the FIRST step required to utilize the new LUN? 

A. Change the zoning to allow the host to see the new LUN. 

B. Initiate a rescan from the host. 

C. Initiate a Name Server update. 

D. Reboot the host. 

Correct Answer: B 

 

QUESTION 2

Which of the following is a danger to computer equipment in an environment that has low humidity? 

A. Water condensation 

B. Component overheating 

C. Static electricity buildup 

D. Performance degradation 

Correct Answer: C 

 

QUESTION 3

The same LUN can be mapped to multiple servers only if which of the following conditions are satisfied? 

A. Both servers are running the same operating system 

B. File system on the LUN is cluster aware 

C. More bandwidth is required to satisfy customer requirements 

D. Multiple servers require access to the same data 

Correct Answer: B 

 

QUESTION 4

Which of the following would show a high amount of outstanding I/O on a host when the storage array is too busy
processing data from other hosts? 

A. High number for disk queue length field 
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B. Low number for MB/sec field 

C. High number for IOPs/sec field 

D. Low number for latency field 

Correct Answer: A 

 

QUESTION 5

A storage technician is asked to separate various network segments to group various hosts between layer 2 devices.
Which of the following Ethernet network topologies would MOST likely need to be created? 

A. MAN 

B. VLANs 

C. WAN 

D. VSANs 

Correct Answer: B 
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